This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 1 - Renfrew North and Braehead

5,621

4

1,125

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John GRAY	Scottish Conservative and Unionist	897
Lisa-Marie HUGHES	Scottish National Party (SNP)	1,376
Jamie MCGUIRE	Scottish Labour Party	1,371
Peter MORTON		59
John SHAW	Scottish National Party (SNP)	1,374
Sophia Daphne Rose Dowling SPARKS	Scottish Labour Party	291
Ross STALKER	Scottish Liberal Democrats	253
	Total	5,621

Candidate Lisa-Marie HUGHES Elected with 1,376 votes, being in excess of the quota of 1,125 Candidate Jamie MCGUIRE Elected with 1,371 votes, being in excess of the quota of 1,125 Candidate John SHAW Elected with 1,374 votes, being in excess of the quota of 1,125

This report contains the transfers results.

Stage 2 - Surplus of Lisa-Marie HUGHES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	36	0.18241	6.56676
Transfer to Peter MORTON	75	0.18241	13.68075
Transfer to Sophia Daphne Rose Dowling SPARKS	332	0.18241	60.56012
Transfer to Ross STALKER	199	0.18241	36.29959
No further preference	734	0.18241	133.88894
Not transferred due to rounding			0.00384
	Total		251.00000

This report contains the transfers results.

Stage 3 - Surplus of John SHAW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	61	0.18122	11.05442
Transfer to Peter MORTON	74	0.18122	13.41028
Transfer to Sophia Daphne Rose Dowling SPARKS	305	0.18122	55.27210
Transfer to Ross STALKER	198	0.18122	35.88156
No further preference	736	0.18122	133.37792
Not transferred due to rounding			0.00372
	Total		249.00000

This report contains the transfers results.

Stage 4 - Surplus of Jamie MCGUIRE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	104	0.17943	18.66072
Transfer to Peter MORTON	12	0.17943	2.15316
Transfer to Sophia Daphne Rose Dowling SPARKS	1,094	0.17943	196.29642
Transfer to Ross STALKER	57	0.17943	10.22751
No further preference	104	0.17943	18.66072
Not transferred due to rounding			0.00147
	Total		246.00000

This report contains the transfers results.

Stage 5 - Exclusion of Peter MORTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	7	1.00000	7.00000
Transfer to Sophia Daphne Rose Dowling SPARKS	18	1.00000	18.00000
Transfer to Ross STALKER	14	1.00000	14.00000
Transfer to Sophia Daphne Rose Dowling SPARKS	16	0.18241	2.91856
Transfer to Ross STALKER	22	0.18241	4.01302
Transfer to John GRAY	1	0.18122	0.18122
Transfer to Sophia Daphne Rose Dowling SPARKS	27	0.18122	4.89294
Transfer to Ross STALKER	24	0.18122	4.34928
Transfer to John GRAY	1	0.17943	0.17943
Transfer to Sophia Daphne Rose Dowling SPARKS	8	0.17943	1.43544
Transfer to Ross STALKER	1	0.17943	0.17943
No further preference	20	1.00000	20.00000
No further preference	37	0.18241	6.74917
No further preference	22	0.18122	3.98684
No further preference	2	0.17943	0.35886
Not transferred due to rounding			0.00000
	Total		88.24419

This report contains the transfers results.

Stage 6 - Exclusion of Ross STALKER

357.95039

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	60	1.00000	60.00000
Transfer to Sophia Daphne Rose Dowling SPARKS	124	1.00000	124.00000
Transfer to John GRAY	13	0.18241	2.37133
Transfer to Sophia Daphne Rose Dowling SPARKS	96	0.18241	17.51136
Transfer to John GRAY	18	0.18122	3.26196
Transfer to Sophia Daphne Rose Dowling SPARKS	100	0.18122	18.12200
Transfer to John GRAY	5	0.17943	0.89715
Transfer to Sophia Daphne Rose Dowling SPARKS	28	0.17943	5.02404
No further preference	83	1.00000	83.00000
No further preference	112	0.18241	20.42992
No further preference	104	0.18122	18.84688
No further preference	25	0.17943	4.48575
Not transferred due to rounding			0.00000
	Total		357.95039

 $Report\ Name: Transfers_V0001_Ward-1---Renfrew-North- and-Braehead_06052022_151058.pdf\ Created:\ 06-5-2022\ 15:10:58$

This report contains the transfers results.

Stage 7 - Exclusion of Sophia Daphne Rose Dowling SPARKS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John GRAY	154	1.00000	154.00000
Transfer to John GRAY	180	0.18241	32.83380
Transfer to John GRAY	223	0.18122	40.41206
Transfer to John GRAY	396	0.17943	71.05428
No further preference	279	1.00000	279.00000
No further preference	264	0.18241	48.15624
No further preference	209	0.18122	37.87498
No further preference	734	0.17943	131.70162
Not transferred due to rounding			0.00000
	Total		795.03298